

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Project No. 5241 - Reinforced Concrete Box Reconstruction

Project ID: FCC0001319

Bids Opened: 4/5/2023 Project Manager: Kevin Ramos n/a

			Engineer's Estimate		(1) GMZ Engineering, Inc.		(2) Reyes Construction, Inc.		(3) Myers and Sons Construction, LP				
(1) Preliminary Bid Amount				\$8,032,540.00		\$8,983,380.00		\$16,663,717.00		\$21,099,999.00			
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	5	\$500.00	MTH	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF THE LTWHP	1	\$5,000.00	LS	\$5,000.00	\$35,000.00	\$35,000.00	\$40,000.00	\$40,000.00	\$200,000.00	\$200,000.00	\$150,000.00	\$150,000.00
5	IMPLEMENTATION OF BMPS	1	\$50,000.00	LS	\$50,000.00	\$35,000.00	\$35,000.00	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00	\$1,500,000.00	\$1,500,000.00
6	PREPARATION OF THE SITE-SPECIFIC HEALTH AND SAFETY PLAN (STIPULATED PRICE OF \$5,000)	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
7	IMPLEMENTATION OF THE SITE-SPECIFIC HEALTH AND SAFETY PLAN	1	\$20,000.00	LS	\$20,000.00	\$35,000.00	\$35,000.00	\$60,000.00	\$60,000.00	\$240,000.00	\$240,000.00	\$528,000.00	\$528,000.00
8	PREPARATION OF THE SURFACE WATER DIVERSION PLAN	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00

Project Name: Project No. 5241 - Reinforced Concrete Box Reconstruction

Project ID: FCC0001319

Bids Opened: 4/5/2023

Bids Opened: 4/5/2023 Project Manager: Kevin Ramos n/a

			Engineer's Estimate		(1) GMZ Engineering, Inc.		(2) Reyes Construction, Inc.		(3) Myers and Sons Construction, LP		(4) KEC Engineering		
(1) Preliminary Bid Amount					\$	88,032,540.00	\$8,983,380.00			16,663,717.00 \$21,099,999.00			
` '	it Price Detail												
<u>Item</u>	Description (STIPULATED UNIT PRICE OF \$2,500)	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
9	IMPLEMENTATION OF THE SURFACE WATER DIVERSION PLAN	1	\$200,000.00	LS	\$200,000.00	\$150,000.00	\$150,000.00	\$500,000.00	\$500,000.00	\$400,000.00	\$400,000.00	\$1,500,000.00	\$1,500,000.00
10	PREPARATION OF THE COFFERDAM DEWATERING PLAN (STIPULATED UNIT PRICE OF \$5,000)	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
11	IMPLEMENTATION OF THE COFFERDAM DEWATERING PLAN	1 5	\$1,000,000.00	LS	\$1,000,000.00	\$250,000.00	\$250,000.00	\$666,800.00	\$666,800.00	\$2,100,000.00	\$2,100,000.00	\$5,805,000.00	\$5,805,000.00
12	PREPARATION OF THE SPILL PREVENTION AND CONTROL PLAN (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
13	INSTALLATION OF WILDLIFE EXCLUSIONARY FENCING	925	\$8.00	LF	\$7,400.00	\$20.00	\$18,500.00	\$12.00	\$11,100.00	\$12.00	\$11,100.00	\$38.00	\$35,150.00
14	MAINTENANCE OF WILDLIFE EXCLUSIONARY FENCING	925	\$2.00	LF	\$1,850.00	\$20.00	\$18,500.00	\$10.00	\$9,250.00	\$50.00	\$46,250.00	\$35.00	\$32,375.00
15	OFFICE FACILITIES	6	\$5,000.00	MTH	\$30,000.00	\$3,500.00	\$21,000.00	\$19,500.00	\$117,000.00	\$35,000.00	\$210,000.00	\$5,100.00	\$30,600.00
16	MOBILIZATION	1	\$800,000.00	LS	\$800,000.00	\$432,750.00	\$432,750.00	\$800,000.00	\$800,000.00	\$1,127,499.00	\$1,127,499.00	\$917,372.00	\$917,372.00
17	CONCRETE REMOVAL (REINFORCED)	525	\$660.00	CY	\$346,500.00	\$1,000.00	\$525,000.00	\$400.00	\$210,000.00	\$1,000.00	\$525,000.00	\$830.00	\$435,750.00
18	UNCLASSIFIED EXCAVATION	9200	\$60.00	CY	\$552,000.00	\$85.00	\$782,000.00	\$16.00	\$147,200.00	\$125.00	\$1,150,000.00	\$12.00	\$110,400.00
19	CRUSHED MISCELLANEOUS BASE	200	\$330.00	CY	\$66,000.00	\$120.00	\$24,000.00	\$219.00	\$43,800.00	\$450.00	\$90,000.00	\$292.60	\$58,520.00
20	REMOVE EXISTING FENCE	483	\$220.00	LF	\$106,260.00	\$20.00	\$9,660.00	\$40.00	\$19,320.00	\$100.00	\$48,300.00	\$370.00	\$178,710.00
21	TRANSITION STRUCTURE PER STD PLAN 341	1	\$24,750.00	EA	\$24,750.00	\$70,000.00	\$70,000.00	\$85,000.00	\$85,000.00	\$325,000.00	\$325,000.00	\$298,000.00	\$298,000.00

Project Name: Project No. 5241 - Reinforced Concrete Box Reconstruction

Project ID: FCC0001319

Rids Opened: 4/5/2023

Bids Opened: 4/5/2023 Project Manager: Kevin Ramos n/a

	Engineer's		eer's Estimate	te (1) GMZ Engineering, Inc.		(2) Reyes Construction, Inc.		(3) Myers and Sons Construction, LP		(4) KE	C Engineering		
(1) Preliminary Bid Amount					9	\$8,032,540.00	;	\$8,983,380.00	\$16,663,717.00		\$21,099,999.00		
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
22	PRESSURE MANHOLE PER	1	\$5,500.00	EA	\$5,500.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00	\$12,500.00	\$12,500.00	\$38,500.00	\$38,500.00
	STD PLAN 323												
23	CONST & REMOVE TEMP	1400	\$55.00	LF	\$77,000.00	\$55.00	\$77,000.00	\$35.00	\$49,000.00	\$60.00	\$84,000.00	\$14.00	\$19,600.00
	CHAIN LINK FENCE												
24	CONCRETE PILES, 45 TONS	1728	\$880.00	LF	\$1,520,640.00	\$250.00	\$432,000.00	\$240.00	\$414,720.00	\$256.00	\$442,368.00	\$489.00	\$844,992.00
25	11' - 0" W X 9' - 2" H RCB	292	\$2,000.00	CY	\$584,000.00	\$3,600.00	\$1,051,200.00	\$3,320.00	\$969,440.00	\$6,515.00	\$1,902,380.00	\$3,500.00	\$1,022,000.00
	PER SECTION B1-A, SHEET												
	4												
26	11' - 0" W X 9' - 2" H RCB	340	\$2,000.00	CY	\$680,000.00	\$3,300.00	\$1,122,000.00	\$2,150.00	\$731,000.00	\$6,375.00	\$2,167,500.00	\$2,820.00	\$958,800.00
	PER SECTION B1-B, SHEET												
	5					4-0.000	250,000,00		.	**********	207 700 00	*****	
27	DEBRIS REMOVAL	1	\$11,000.00	LS	\$11,000.00	\$50,000.00	\$50,000.00	\$19,500.00	\$19,500.00	\$27,500.00	\$27,500.00	\$204,500.00	\$204,500.00
28	PROTECTION FENCE,	10	\$2,200.00	LF	\$22,000.00	\$810.00	\$8,100.00	\$5,840.00	\$58,400.00	\$5,000.00	\$50,000.00	\$15,350.00	\$153,500.00
	SHORT END PANEL		24.540.00		****	2010.00	20.10.000.00	21.100.00		04.000.00	27.12.222.22	24.000.00	
29	PROTECTION FENCE, SIDE	420	\$1,540.00	LF	\$646,800.00	\$810.00	\$340,200.00	\$1,190.00	\$499,800.00	\$1,300.00	\$546,000.00	\$1,308.00	\$549,360.00
- 00	PANEL PROFESION FEMALE AND	4.5	¢0.750.00		£44.050.00	#040.00	£40.450.00	ΦE 420.00	#70 0F0 00	#C 000 00	#00.000.00	£44.0E0.00	£400 750 00
30	PROTECTION FENCE, HIGH	15	\$2,750.00	LF	\$41,250.00	\$810.00	\$12,150.00	\$5,130.00	\$76,950.00	\$6,000.00	\$90,000.00	\$11,250.00	\$168,750.00
- 04	END PANEL		£224 000 00	1.0	£224 000 00	#400 000 00	£400,000,00	#CFC 000 00	\$050,000,00	£4.44E.000.00	£4.44E.000.00	#000 0F0 00	\$000 0E0 00
31	STEEL WAVE PROTECTION BARRIER	1	\$231,000.00	LS	\$231,000.00	\$400,000.00	\$400,000.00	\$656,900.00	\$656,900.00	\$1,445,000.00	\$1,445,000.00	\$809,850.00	\$809,850.00
- 20		700	\$1,000.00		\$720,000.00	\$1,350.00	\$972,000.00	\$1,700.00	\$1,224,000.00	\$1,750.00	\$1,260,000.00	\$2,900.00	\$2,088,000.00
32	CONSTRUCT AND REMOVE	720	\$1,000.00	LF	\$720,000.00	\$1,350.00	\$972,000.00	\$1,700.00	\$1,224,000.00	\$1,750.00	\$1,200,000.00	\$2,900.00	\$2,000,000.00
	SHEET PILE COFFERDAM,												
33	H=30' CONSTRUCT AND REMOVE	210	\$1,250.00	LF	\$262,500.00	\$1,800.00	\$378,000.00	\$1,900.00	\$399,000.00	\$3,092.00	\$649,320.00	\$3,650.00	\$766,500.00
33		210	\$1,230.00	LF	\$202,500.00	φ1,000.00	φ378,000.00	φ1,900.00	φ399,000.00	\$3,092.00	\$049,320.00	φ3,030.00	\$700,500.00
	SHEET PILE COFFERDAM, H=40'												
34	MARKER LIGHTS	1	\$1,100.00	LS	\$1,100.00	\$25,000.00	\$25,000.00	\$36,800.00	\$36,800.00	\$60,000.00	\$60,000.00	\$49,250.00	\$49,250.00
35	PRESTRESSED CONCRETE	4	\$19,800.00		\$79,200.00	\$5,000.00	\$20,000.00	\$2,000.00	\$8,000.00	\$5,500.00	\$22,000.00	\$12.450.00	\$49,800.00
33	PILE DRIVING TEST	+	Ψ10,000.00 [LACIT	Ψ10,200.00	ψο,σσσ.σσ	Ψ20,000.00	Ψ2,000.00	ψο,σσσ.σσ	ψο,σσσ.σσ	Ψ22,000.00	Ψ12,400.00	Ψ-0,000.00
36	RESTORATION OF BEACH	1	\$55,000.00	LS	\$55,000.00	\$35,000.00	\$35,000.00	\$255,000.00	\$255,000.00	\$25,000.00	\$25,000.00	\$433,500.00	\$433,500.00
30	GROUND SURFACE	'	+,500.00	LO	Ţ = 2,000.00	Ţ , 000.00	+-3,000.00		+ ===,===.	+=3,000.00	+=3,000.30	+,000.00	Ţ : <u> ,</u>
37	5' X 10' X 1" THICK STEEL	13840	\$16.50	SF	\$228,360.00	\$22.00	\$304,480.00	\$10.00	\$138,400.00	\$35.00	\$484,400.00	\$37.00	\$512,080.00
- '	PLATE (STAGING AREA)	.0010		٥.									•

Project Name: Project No. 5241 - Reinforced Concrete Box Reconstruction

Project ID: FCC0001319

Bids Opened: 4/5/2023 Project Manager: Kevin Ramos n/a

			Engin	eer's Estimate	(1) GMZ Engineering, Inc.		(2) Reyes Construction, Inc.		(3) Myers and Sons Construction, LP		(4) KEC Engineering		
(1) Preliminary Bid Amount					\$8,032,540.00		\$8,983,380.00		\$16,663,717.00		\$21,099,999.00		
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
38	REINFORCED	11400	\$1.65	SF	\$18,810.00	\$5.00	\$57,000.00	\$2.00	\$22,800.00	\$4.00	\$45,600.00	\$1.60	\$18,240.00
	POLYETHYLENE												
	GEOMEMBRANE												
39	IMPORT AND REMOVE	180	\$55.00	CY	\$9,900.00	\$200.00	\$36,000.00	\$280.00	\$50,400.00	\$450.00	\$81,000.00	\$275.00	\$49,500.00
	SAND												
40	TRAFFIC CONTROL	1	\$55,000.00	LS	\$55,000.00	\$50,000.00	\$50,000.00	\$300,000.00	\$300,000.00	\$450,000.00	\$450,000.00	\$559,000.00	\$559,000.00
41	TEMPORARY RAILING	600	\$132.00	LF	\$79,200.00	\$100.00	\$60,000.00	\$38.00	\$22,800.00	\$125.00	\$75,000.00	\$89.00	\$53,400.00
	(TYPE K)												
42	ADDITIONAL REMOVAL AND	150000	\$1.00	AL	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00
	REPLACEMENT OF												
	TRANSITION STRUCTURE												
	AND REINFORCED												
	CONCRETE BOX												
	(ALLOWANCE OF \$150,000) (REVISED PER ADDENDUM												
	NO. 2)												
I Init P	Unit Price Total		\$8,709,020.00		\$8,032,540.00		\$8,983,380.00		\$16,663,717.00		\$21,099,999.00		
			φο,700,020.00										
(3) LSBE/DVBE/SE Preference Amount					\$0.00		\$0.00	•	\$0.00	0.0	\$0.00		
(4) LSBE/DVBE/SE Adjusted Amount						\$8,032,540.00		\$8,983,380.00	\$	16,663,717.00	\$2	21,099,999.00	
Comments						APPARENT	LOW BIDDER						